3000 AN 3200 AGAAANL 3210 ASGAAME 3213 AmdiH 120 AAHAH 201 Ak
e =5
o Ak of s = 7] =
Alg A A & =
?532}%31443& 55,746
2447 20
18,210 |01 &wke-<dn)
O rk=8H] (=14,070)
—AFEd A A Q4 50090 = 1,200uf = 600
- AFEAAA #EA A Q4 50090 * 3,0000H = 1,500
—AFEAAA A RAF &7 1,50090 * 1,20078 = 1,800
— A4 A7 AE WY =219 40,0009 = 29 = 23] = 160
—x A FRE A (=5,250)
- & g2k 2} 50,0009 * 25m) = 1,250
A e 1009 = 10,0000 * 2% = 2,000
- HApakgk 2,0009 * 1,000% = 2,000
—7t=F a4 kA g wA A4
3,000¢) = 250%- * 23] = 1,500
—7k2¢kd ERE AF (=3,000)
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3000 AANE 3200 AGAAANL 3210 AGAAMLE 3213 AsPA 120 AAHAE 201 LHEEFw]
il - o AF of AL = 7] *
Alg Al Al & =
. & 2=ul A=} 50,0009 = 109 = 500
SRR e 5090 * 17,000v) * 23] = 1,700
- E2E Q14 800 = 500 = 23] = 800
—7taE WYy 22 19 40,0009 = 49 * 23] = 320
—LP7b2 AT FAF T2 FgH] FAH] (=1,440)
- FFEY A T 180,000¢] * 8F = 1,440
Ow#H| (=2,640)
— A oRbdE F A 6,000¢) * 49 * 60 = 1,440
— 7} 2ot 7 okzF FAlH] 6,0009) * 4% = 509 = 1,200
%g%] 7,000
7,000 |01 =Fujoin]
OXfr7 FAAAL A 8AF =7oin|
10,0009 * 59 * 100¥ = 5,000
O7F2otA" 7 ZE7 o) 10,0009 = 29 * 100 = 2,000
P
FERE i
iﬁ?%ﬂl 14,536
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3000 73 A7) 3200 A 7 A 7 3210 A oA A 7N 3213 A=A 220 AHAAY 206 AgH]

e =5
o AF o s = 7] =
A8} Al Al & =
OAM 7 F243AA A A8 7944 (=3,686)
— 3|ag 1,35090 = 90 130704 = 1,580
-3 % 1,000 * 90 = 130704 = 1,170
- & 8009 = 94 * 130704 = 936
O7F2=A A 72 AAE Ah9 19 1,7009) = 5007} = 850
Od&AS A7AA F5nA 50,0009 * 2004t = 10,000
A e 0.0
16,000 |01 A]A1H]
O7128S5FFA 75T AJA AdEA
160,000¢) * 1004 t) = 16,000
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